’b 2 ﬂ @ % Tinh nhan tir cua da thirc bac hai

Tén: Ngay thang: Diém:
3x — 15x— 42 ¥ +x—30
3 — 11x+6 6x” — 48x + 90
2%* — 98 3x> — 21x— 24
2 2
x +4x—-12 6x~ + 24x— 126
4y + 48x + 140 0x” — 37x — 40
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’b ‘) ﬂ % % Tinh nhan tir cua da thirc bac hai

Tén: Ngay thang: Piém:
3x — 15x— 42 ¥ +x—30
3+ 2)(x—7) (x— 5)(x+ 6)
3 — 11x+6 6x” — 48x + 90
Bx—2)(x—3) 6(x—3)(x—9)
2x> — 98 3x2 — 21x— 24
20— 7)(x+7) 3 — 8)x + 1)
X+ dx— 12 6x” + 24x — 126
(x— 2)(x + 6) 6(x+ 7)(x - 3)
4x” + 48x + 140 0x” — 37x — 40
4(x+ T)x+5) Ox+ 8)(x—9)
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